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Lecture 15



Show that all feasible points can be represented 
as a convex combo of vertices.



Define a basic feasible point (BFP). 

Give a characterization of vertices and basic 
feasible points.

(They are the same!)



Our first alg for LPs: check all BFP.



Result 2: We can get dual variables from a BFP.

This means we don’t have to check all BFP.



Result 3: We can find a better objective value

from any non-optimal BFP. This is the simplex 

method! 

function isBFP(A,b,cols)

B = A[:,cols]

m,n = size(A) 

if rank(B) != m

  return false

else

  x = zeros(n)

  x[cols] = B\b

  if all( x .>= 0 )

    return true

  else

    return false

  end

end

end





